EARAROBEEIERT — 2 N— IBISH —F

201753H2H (K) 27EIEH3H

m C2— ¥5%4m®t BRI R
[A&4£] 1 7% :300,000" ~ 23#%&:72,000 M  33&:36,000”  437&:24,000H . 57 :18,000
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N BEET :33. -1-1- . — AR EE (FEi)
i 3| =¥ T—2 o4 AEwf 1(3_3)5 1-1-1-1 | 40.7 1 (4_716) Em;u%
RixLTHXNAN B4 32—Ya i
. s s :33. 21~ 7| - FEERER (HM)
olalo SaYHLATL X 4 7 56.04 1(73?:? 2-2-1-2 | 40.7 4 (5+012) DM?IE%
L:7A7% B:ANLEZRL JEL EE
iS5 KL — 4 5 | TE®E 1:34.0 6-6-7-5 | 40.6 | — 3 479 | =EEZ (EH)
30111 JXRET7Zv KL 56.0 (2 1/2) (-4) B
L:2FA4d—I K B:A—-K)—-O0-X RS
S £ 5 | WAKEKX 1:34.1 4-5-3-3 | 40.9| — 5 489 | RHES (EA)
s 6| TP FR L (172) G2 | W0 Tr-ZpEVar
A=W RFPU2— B:I—Y2T75740 SIS
= 44 | AFHE 1:34.5 8-8-5-4 |40.6| — 2 477 | FEEEER (EB)
5 5|7 1784 56.0 @ 1/2) PE S
x4 vavayy BiYARE—FYER J—HrIr—L
N # 9 | MNERAF 1:34.6 5-4-5-6 | 41.4| — 8 466 | EEER (ER)
6 2 2 av > I\T/T/ (1/2) (-2) BIIEE
R:ARLH—ALF—T B:IxHANTH =AKHE B
e PritEd : -9-10- — RmfR ()
7PN 4| V=T ARTF R 1(73‘::)7 $eIe0 408 ° lzgf =FHENR
LE—E—-HNEY B:T7A45RKE)7 ~ NESRIRA R GYERRAT
= = .oy REFR : -10-8- — Jeiliz=Rl (E/)
slzl 7|57y i 5 ey 1.(314).9 10-10-8-8 | 40.5 7 (4_629) e
LiN—ErSry— B:3RT7—N7-N1 FHE
— B4 | LTS 1:35.3 7-7-9-9 | 41.0| - 9 382 | AR (k)
9178 XarqU— 54.0 (2 1/2) o) FEREEERGA
RiRTA MR BHITRT AU~ BEKS
SAHALTL 47 | At 1:35.8 3-3-4-7 |42.7| — 10 | 483 |WcidE (FEhk)
10[8 /10| PST=T LT 6.0 ® Gy | 0 7z hEva
L:T772UI7 BEHED EHEBS
® 1—F—@EBIERL
1T=7r= 3,9,10,6,2,1,8,5,4,7
2a=5F= 3,9,10,2,6,1,8,5,4,7
== (3,9),6,10,(2,5),1,7,8,4
40—F— 3,9,6,5,1,2,10,7,8,4
[ N5
B 3 210H 714K 3-9 270 e E 3-8 560 JEE 1-3-9 960M
B B 3 110H =8 260M B = 3-9 600 EE 3-9-1 3,610
9 130H4 1-9 420M B H 3-9 1,040
1 1509

ABICOVWTRDTEEERROODE. TR LIV,



